BLS 386: Global Environmental Issues 

PS#0: Answers

1) The densitites are: 280, 98, 184, 118, and 40 people/km2

2) Population of earth if it was as densely populated as Puget Sound: 27 billion.

3) Snohomish county in 5, 10 and 20 years = 5.97 , 6.72 and 8.52   x 105 people;  King county in 5, 10 and 20 years = 1.72, 1.84 and 2.11 million people.

4) Total emissions: US: 1.1 x 109 metric tonsC;  Russia: 1.0 x 109 metric tonsC;  China: 6.0 x 108 metric tonsC

Total = 2.7 x 109 metric tons which is exactly 50% of the world total.

5a) 5.2 E14; 5b) 1.5E7 5c) 5.4E19 5d) 4.5E6

(Note here I am using the "E" symbol. Eg 5E3 is the same as 5x 103, which is the same as 5000.)

6A) X =17; Y = 34
6B) X = -2

7) Between 1960-1980 global population increased by 50% (3 to 4.5 billion) and CO2 emissions increased by 145% (2.2 to 5.4 x 1015 grams). This is due to the fact that each of us an individuals is responsible for a greater amount of CO2 emissions now than in 1960. This is related to the general increase in the global "standard of living" and/or consumption of fossil fuels and other material goods.

 

